214ss-07 Ribbon Tunic

Suggested yarn:
+ Pierrot Yarns Orgabits One [100% cotton; 142yds/130m per 1.41 0z./40g skein]; color #04 powder blue, 6 skeins [230g]
+ Pierrot Yarns Cyrup [52% acrylic, 29% nylon(polyamide), 13% plant fiber, 6% polyester; 492 yds/450m per 1.760z./50g cone]; color #14 aqua, 2 cones [80g]

Tools/Notions:
+ 3.9mm (approx. US 6) knitting needle or size necessary to achieve gauge
+ 3.0mm (approx. US C or D) crochet hook or size necessary to achieve gauge

Finished measurements:
* bust 88cm/34.65"

* cross back width 29cm/11.42"
+ back length 60.5cm/23.82"

Gauge (10cm/4" square):
+ pattern stitches A & B: 20 sts and 28 rows

Gauge may vary according to individual knitting style. Change needle size if necessary to achieve gauge. Alternatively, rework pattern with your own gauge measurements.

....................................................................................................................................................................

Knitting Tips
%-Note: entire garment is worked with 2 strands of yarn held together (1 strand of Orgabits One and 1 strand of Cyrup).

Back & front body: Cast on with crochet chain cast-on method (that is, work a crochet chain, then pick up and knit from bottom loops of chain). Work in pattern stitches A and B. Work
centered double decreases in skirt section of tunic where indicated. Shape armscye and neckline as follows: bind of stitches where indicated, and work decreases at edges where indicated.

Finishing: Seam shoulders with crochet slip stitch seam. Seam sides with mattress stitch. Work edging B in the round around hem. At armholes, work edging B in the round. For neckline
edging, start at left shoulder; work edging B' along front neckline and sc along back neckline.

Ribbon: Crochet a foundation chain to begin, then crochet the ribbon. Align center of back neckline with center of ribbon; seam ribbon to back neckline with whipstitch.
Abbreviations:

BO = bind off ch = chain stitch CO=caston dc = double crochet (US) RE = row(s) even rep = pattern repeat(s) sc = single crochet (US)
#-#-# = rows-stitches-times (for example, 2-3-4 means "every 2 rows, decrease 3 stitches; do this 4 times total")

#-#-#-# = rounds-places-stitches-times [for evenly spaced decreases across entire width/circumference of an item]. For example, 1-2-3-4 means "every 1 round, decrease 3 stitches in each
of 2 places across the round; do this 4 times total."
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